
UNION GAS – EB-2007-0598

Deferral Account Proceeding

written INTERROGATORIES for union gas limited

FROM THE CONSUMERS COUNCIL OF CANADA

1. (Re: Exhibit A, Tab 1, p. 11)  Please specifically explain how the “costs to provide service” are calculated for each of the following categories.  Please set out all cost components:

Short-Term Storage and Other Balancing Services – 2006 (actual)

Short-Term Storage and Other Balancing Services – 2004 (approved)

Long-Term Peak Storage Services – 2006 (actual)

Long-Term Peak Storage Services – 2004 (approved)

2. (Re: Exhibit A, Tab 1, p. 11)  With respect to Short-term Storage and Other Balancing Services please provide a detailed explanation as to why the variance from forecast of $28.7 million is so significant.

3. (Re: Exhibit A, Tab 1, p. 15)  With respect to the treatment of the $16.475 million in deferred taxes the evidence states, “The company’s approach was reviewed by the external auditors Deloitte and Touche in connection with their year end audit and incorporated into their evaluation leading to their audit opinion accompanying the financial statements.”  Please describe all options that were considered by Union regarding the treatment of the deferred taxes.  Please explain why the other options considered were rejected by Union.

4. (Re: Exhibit A, Tab 1, p. 15)  Please indicate when Union knew that there would be a deferred tax issue arising from a change in the regulatory framework for ex-franchise storage.  Why was this issue not brought before the Board in the NGEIR proceeding?

5. (Re: Exhibit A, Tab 1, p. 14)  Please provide specific details as to how the $10.524 million was derived.

6. (Re: Exhibit A, Tab 1, p. 14)  If Union’s shareholders made the decision to seek approval for the Board to forebear from regulating ex-franchise storage rates why should ratepayers now be responsible for the incremental costs arising from that decision?

7. (Re: Exhibit A, Tab 1, p. 22)  Please provide detailed amounts for the legal costs, costs of actuarial advice and the costs of analyzing historical material related to the late payment penalty litigation.  Please include all assumptions.

8. (Re: Exhibit A, Tab 1, p. 25)  Please indicate whether the proposed method for calculating earnings sharing is the same method used in previous years.  If not, please explain how the proposed method differs.

9. (Re: Exhibit A, Tab 1, p. 25)  Please indicate what weather normalization methodology Union used in calculating the 2006 weather normalized earnings.

10. (Re: Exhibit A, Tab 2)  With respect the proposed clearance of the deferral accounts and the earnings sharing amount, please indicate where a new approach is being used relative to previous years and explain why that new approach is being proposed.
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